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DI g A — Y b 2 — (25m) /2
HIH : 202441026 H (+) ~10H27H (H)
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1 [HIR &3 SCre 1/ 3 4:17.14
29.21 1:01.02 1:32.76 2:08.09 2:38.14 3:11.39 3:42.90
1 FEun %HH 2 29.21 1:01.02
2 & TR 2B 31.74 1:07.07
3 I N Ml 30.05 1:03.30
4 WL B 2 31.51 1:05.75
2 LR 1/ 5 4:19.55
30.18 1:02.92 1:32.94 2:06.35 2:36.14 3:09.28 3:42.19
1 Akm o me 2 30.18 1:02.92
2 BRHMNY 2 30.02 1:03.43
3 AR HhEE 12 29.79 1:02.93
4 EY XFEF 2 32.91 1:10.27
3 )6 - 3 1/ 6 4:32. 46
31.81 1:07.10 1:40.65 2:18.41 2:47.32 3:22.10 3:55.02
1 WH TH 2 31.81 1:07.10
2 g M 2 33.55 1:11.31
3 FI 13 28.91 1:03.69
4 FEHERRLS 2 32.92 1:10.36
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3 A)IIHER M3 30.22 1:03.58
4 EE EE = 30.32 1:04.79
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28.60 1:00.32 1:28.81 2:00.67 2:30.90 3:03.73 3:33.87
1 HER HE =) 28.60 1:00.32
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3 K Rk &l 31.33 1:05.13
4 TH)II 23 2 29.82 1:03.15
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DI g A — Y b 2 — (25m) 2/2
HIH : 202441026 H (+) ~10H27H (H)
No.37 ZF 4x100m 2 1—1) L— B A LL— R R
LK A—=T >
F—L4 K& B FHl
OPN E4&S S 2/ 5 4:13.15
29.13 1:00.30 1:29.45 2:01.28 2:32.32 3:07.96 3:38.92
1 Bk 33 =) 29.13 1:00. 30
2 dbkt & =3 29.15 1:00.98
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